Enkopings BS
ENA-Serien 5 Rond 5:1 2012-11-15

IMP o6ver faltet, 8 bord, 16 par. Antal brickor: 12.

Plac Par Poadng Namn MID Klubb
1 3 4.25 Hakan Lindh - Per Eriksson 6055 19493 Enkopings BS
2 303 2.16 Mikael Palm - Tomas Olsson 6581 2884  Uppsalabridgen
3 201 1.87 Hans Thorgren - Nils Aimgren 7926 3959 ABBBK
4 204 1.68 Torsten Runebert - Lennart Kohl 9996 9989  Enkopings BS
5 104 1.07 Ola Sddergran - Goran Karlsson 9994 25636 Enkdpings BS
6 101 1.02 Anders Lovling - Lars-Erik Strand 18166 3985  Enkdpings BS - ABB BK
7 302 0.69 Lennart Schenning - Kerstin Schenning 82162 82161 Enkopings BS
8 2 0.11 Brittmarie Frolén - Anita Ahlstrém 50144 16261 Enkdpings BS
9 202 -0.11 Johnny Séderberg - Magnus Strom 17984 31824 Akers BK - Strangnéas BK Gripen
10 102 -0.69 Krister Collberg - Ola Sarnkvist 17982 80001 Akers BK
11 301 -1.02 Robin Holmqyist - Thomas Yttermark 35012 27360 Enkdpings BS
12 304 -1.07 Mickey Maretics - Ronny Erixon 50249 88442 Enkopings BS
13 4 -1.68 Marguerithe Lundberg - Hans Asander 50146 2856  Enkopings BS
14 1 -1.87 Harry Gronholm - Lillemor Zander 89983 21772 PRO Enkdping Bridge - Enkopings BS
15 103 -2.16 Kjell Jansson - Kjell Lindgren 12268 16259 Enkdpings BS
16 203 -4.25 Peter Svensson - Annika Steisjo 802 2849  Enkopings BS
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101 301 54 N= vA 450 27.0 -27.0| 3 203 44 N+2 ¢5 680 74.0 -74.0| 4 204 44 N+1 &7 450 47.0 -47.0
104 304 54 N= vQ 450 27.0 -27.0|104 304 34 N+3 &J 230 40 -40( 3 203 44 N= ©vA 420 41.0 -41.0
4 204 5¢ V-2 ©vA 100 -11.0 11.0| 1 201 24 N+3 5 200 -3.0 3.0(101 301 44 N= 49 420 41.0 -41.0
103 303 5vD O -1 &A 100 -11.0 11.0| 2 202 24 N+3 3 200 -3.0 3.0|104 304 3NN= *3 400 37.0 -37.0
102 302 6aDN-1 vA -100 -32.0 32.0| 4 204 34 N+2 +¢9 200 3.0 3.0| 1 201 24 N+2 &7 170 00 0.0
3 203 4vy N= 44 420>a 18.0 -18.0 (101 301 34 N+2 ¢2 200 -3.0 3.0(102 302 64 N-1 46 -50 -35.0 35.0
2 202 3y N= ¢A 140>a -1.0 1.0(|102 302 INO-1 «Q 50 -33.0 33.0| 2 202 54 N-2 ¥vA -100 -44.0 44.0
1201 5¢ N-2 ¢A -100>a -17.0 17.0(103 303 2¢ V-1 « 50 -33.0 33.0|103 303 »8 -500 -87.0 87.0
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3 203 6y S= +8 1430 78.0 -78.0( 3 203 3¢DN= 4Q 670 59.0 -59.0 {101 301 3NS+1 T 430 41.0 -41.0
102 302 6vy S= ¢9 1430 78.0 -78.0| 2 202 3NS= 44 600 49.0 -49.0| 3 203 3NS= vT 400 36.0 -36.0
2 202 4v S+2 a5 680 -20.0 20.0|104 304 3NS= a2 600 49.0 -49.0|104 304 3NS= &2 400 36.0 -36.0
1 201 4v S+1 #6 650 -25.0 25.0| 4 204 INS+2 43 150 -29.0 29.0|103 303 24 V-3 6 300 16.0 -16.0
4 204 4v S+1 &6 650 -25.0 25.0|101 301 2NS+1 +¢A 150 -29.0 29.0| 4 204 INN+1 w7 120 -15.0 15.0
103 303 4v S+1 438 650 -25.0 25.0|102 302 INS+2 a2 150 -29.0 29.0| 2 202 2¢ S= vT 90 -20.0 20.0
104 304 4y S+1 &7 650 -25.0 25.0|103 303 INS+2 a2 150 -29.0 29.0| 1 201 2NN-1 7 -50 -47.0 47.0
101 301 3NN= #Q 600 -36.0 36.0| 1 201 3v V-2 ¢J 100 -41.0 41.0|102 302 2¢ S-1 T -50 -47.0 47.0
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#1096542 K43 #KD103
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 201 44 N+1 ¢4 650 20 -20| 3 203 44 V-1 v4 50 68.0 -68.0( 1 201 4v N= &K 420 6.0 -6.0
3 203 44 N+1 v7 650 20 -2.0|101 301 4¢ O= 43 -130 40.0 -40.0| 2 202 4y N= &K 420 6.0 -6.0
4 204 44 N+1 ¢5 650 20 -2.0|102 302 4y O= 43 -420 -14.0 14.0| 3 203 4vy N= K 420 6.0 -6.0
101 301 44 N+1 3 650 20 -2.0|103 303 4y O= 43 -420 -14.0 14.0|101 301 4v N= &K 420 6.0 -6.0
102 302 54 N= &A 650 20 -2.0|104 304 44 V= v7 -420 -14.0 14.0|102 302 4vy N= &K 420 6.0 -6.0
104 304 44 N+1 ¢2 650 20 -20| 1201 4vO+1 3 -450 -22.0 22.0|103 303 4y N= K 420 6.0 -6.0
2 202 44 N= 5 620 6.0 6.0 2 202 44 V+1 &A -450 -22.0 22.0|104 304 4v N= &K 420 6.0 -6.0
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103 303 44 N= v9 620 -6.0 6.0 4 204 4v O+1 &4 -450 -22.0 22.0 4 204 2NS+2 oT 180 -42.0 42.0
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102 302 4v S= ¢A 620 76.0 -76.0|101 301 4v O-1 ¥9 50 30.0 -30.0 2 202 4¢ O-4 »Q 200 76.0 -76.0
2 202 2v S+2 &7 170 40 -40(103 303 4y O-1 #A 50 30.0 -30.0|104 304 24V +2 ¢T -130 27.0 -27.0
103 303 2y S+2 ¢J 170 40 -40(102 302 2¢ O= ¥9 -110 -20 2.0 1201 2v O+1 46 -140 27.0 -27.0
4 204 3v S= o7 140 -20 20 2202 29y O+1 v¥9 -140 -10.0 10.0 3 203 4v O= o4 -420 -26.0 26.0
1201 4¢ O-1 ©vA 100 -10.0 10.0 3203 3vO= v7 -140 -10.0 10.0 4 204 4v O= 46 -420 -26.0 26.0
3 203 4¢ O-1 v¥K 100 -10.0 10.0 4 204 2v O+1 ¥9 -140 -10.0 10.0|101 301 4v O= #Q -420 -26.0 26.0
101 301 4¢ O-1 ¥K 100 -10.0 10.0(104 304 2v O+1 +¢5 -140 -10.0 10.0|102 302 4y O= 46 -420 -26.0 26.0
104 304 3¢ O+1 vA -130 -52.0 52.0 1 201 2v O+2 &A -170 -18.0 18.0|103 303 4y O= ¢2 -420 -26.0 26.0
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